OIBEHDIT

===
a%aﬁﬁc‘_’_

U7 FDOIKRDOZEL (H25— H30)

BHEXS e e - BRERS | - 15
e 66~74% | TORORE = mm gt Lg %EEUHZ 5 = A 65~Tim T5RLLE
BIRREN 7938 | 11484 19414 65~74%5 BRRER [ g19A I 10724 1,891A
REEH I 464 3724 418X meggys | 38K | 4204 453 X
BEE 5.8% 32.4% 21.5% 793 A | wex a0% | 390.2% 24.0%
smmeEg o N TTA [ ~59A 70A 46 1 smmafs oo A 6A | 534 59 A
BT -2 12 |260%) 66 |1 [ 78 |187% VeSS IR 4 5 152% 1 83 | 198% | 88 | 19.4%
HERF ERT
RSl mami o2 N 24 |soouf 170 |4s7%| 19% dgean| | 5.8% TR Ermif2 | 17 | sisx| 176 | 419%| 198 | 426w
BN 5#3~5 10 [217% 136 |[366%| 146 |349% . | =rap~s 11 [s33w] 161 |[ss3w| 172 | 3804
EREXD 5  SRERS =
Ei 65~747% 75m Ll E @l 65~74%% 75mBlE
NEHH (25 34 I 344 378 ieé%ﬂﬂ /| sy em 33 I 420 453
) =2 - wml 34 344 378 8 H3O P =& - sl 23 | 376 399
E I S e B R e I 65~745% 4 #= e sm | R0 omm | DR mm [0
| om0 e | U0 g |10 819N / i s | L) @i | 188 | sty | 103
69.29 49.49 50.0Y 0 [oY:3-5 0 IEE 0
BRI | mne 14& Hrmp 157& it 15‘31/n 33 A ,l BE 1 ene 4758/0 - 510 723/ : 4185-347/u
= 2} & 2 ~ 2 |2 &
L s | 2] R [sron) DB [ssn| DER [ 40w U AR I N P R ) R R
v B /1% % |
7 3| Bre ' N ogre |2 ] mxe |30 4.0% 7 3 Bre 2 M ere [ 08 | gpe |78
ol m —_— &9&] 9.3% 8.7% o | m l —— 2&@ 18.1% 18.3%
z|® 20 134 154 z = 12 201 213
\ RIS IR $ER v | 1R MR YRR
o % "7 eeen| 0 [seow| T 407w 65,.\/74%@ S % "7 [eaan| T [easw]| o [s34w
&P s | 31 300 331 e RE|™ | mpeps | o 19 | _ 346 | 365
3 [ =Ytk gl gl — — | TSI S S S
R 2 E o S = eren ANEEER Kr—‘E% ‘g 2 (2 BME Foen] P Toaow| PME |orew
S o 21 | gm | 213 | mm | 204 ) | s oith b peE | 12 | pem | 284 | pem | 296
< RRE | 69.0% | BWE [ 61.9% | EWE | 61.9% BQ% "— < REE | 5004 | REE | 7504 | RWE | 74,04
i nEER | o 32 sx 380 L. | 362 ol i’ NEER | 22 sz | 984 o | 388
< At " letew] " [os9%| "~ [958% [El:‘ 73\ S —Cb \5 © At “ lesaw| 7 loesw| 967w

EEMSDSS CfMFREERICKI DT

14

CERXDERINADHNEZEIET

- RESRAERBIAS, T5HLUEOBRORED< DEILT




